' S=1:2,500
0 50 100 150

IR EBERREEFDREEDATR
] ’/“ . . | Y 39.5 R .‘ ‘ {,L‘ ’ =
J‘J \I‘};g,ﬂ‘ ;“ -t_.\.} \ SI‘.‘I‘~3 l? I
‘A&!‘.

200m

1l
30. (@

¥
J) ‘.\‘
/ / / y . ‘III
S C ]‘FG ; . . I,J” 3 -
C—2(& DSBS KIS 5 ROBE LT K U
X —23) tpsEnLEErsE-soRemuTeRe [ ] N mmEaunn iz |mmEe]| 1-20003002552)
AEMBHENOES }
Iy S8 TR R IR e - b S5 T | B i (K 1 - ~ g
iE/f & SRR TR R ER A TR RSB L TR O BB Bah ImiT OBE . THE BT E/ @)
X1z = éfggﬁi DBHZ&DHH00KN/m’E 7 BRI .
LT PR . == _ _ e
TEEORRORS oA SR s=12500 | & R&EAB Fiei | mEmAE®RO
I DR

HRE



